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The table below shows the tons of wheat and rice that can be produced in Country A and Country C
in one year, using the same amount of productive resources. According to the theory of comparative
advantage, what should farmers in Country C do?

a. They should export wheat to Country A and import rice. Wheat 1 Rice

b. They should export rice to Country A and import wheat. Country A 3000 1500

c. They should export both rice and wheat to Country A. Country C 750 500

d. They should import both rice and wheat from Country A

In an economy where heating oil is the primary source of heat for most households, new supplies of]
natural gas are discovered. Natural gas provides heat at a lower cost. Suppose the demand for heating
oil has a cross-price elasticity with respect to the price of natural gas of 2.1. What is the most likely
effect of these discoveries on the market price and quantity of heating oil produced?

a. The equilibrium quantity will increase but the equilibrium price will decrease.

b. The equilibrium quantity will decrease but the equilibrium price will increase.

c. The equilibrium quantity and price will both decrease.

d. The equilibrium quantity and price will both increase.

Mr. Lin is an onion farmer. He cannot understand why his revenue (P*Q) always decreases when he
and other farmers experience a bumper harvest (B %), but his revenue usually increases after a
typhoon reduces the onion production for most farmers. Which one below is the possible reason?

a. Onions are luxury goods.

b. Onions are inferior goods.

c. The own-price elasticity of demand for onions is very small.

d. The price elasticity of supply for onions is very big.
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14. Butt-head (AFEZE) has a workshop of furniture. He needs workers (L) and capital (K) to run this
workshop, and the production function is Y = min{2L, 15K}, where Y is the output per month (in
units). He can hire his friend, Beavis (J&U), and others. The max wage they can earn from other
employers is NT30000 per month. In this month, he has already rented 2 units of K, and the rental is
NT200000 for each unit of K per month. What is the average cost function for Butt-head in this
month (short run)?
a. 60000, if Y<30
b. 400000/Y, if Y<30
c. 850000/Y, if Y<30
d. 15000 + (400000/Y), if Y<30

15. A company runs a bus-route between Taipei and Kaohsiung; the average cost for a bus to take a
passenger from Taipei to Kaohsiung is NT300 when it operates at full capacity (#i#%). Consider the
case where there remain two empty seats on a bus when this bus is leaving the bus station. If the
manager of the bus station stops this bus, and ask the driver to take two more passengers in NT100
for utilizing the two empty seats, how can you explain the manager’s decision?

a. This decision is not smart because it will cause a NT400 loss.
. b. This decision is not smart because the total revenue for this trip will be smaller than its total cost.
c. This decision is rational because the average revenue of each passenger for this trip is still bigger

than its average cost.
d. This decision is rational because the marginal cost to take these two more passengers is almost

ZCro.

16. Your community is considering hiring guards (<F#). If they choose to do this, the payment for a
guard is NT38500 per month. Each household’s marginal benefit from guards each month is shown in

the following table. How many Household Marginal benefit for an additional guard
guards should you hire for the The first one | The second one | The third one
WHOLE community? A NT40000 NT30000 NT20000
a. 0 B NT5000 NT4000 NT3000
b 1 C NT3000 NT2500 NT2000

) D NT2000 NT1500 NT1200
Z’ 3 E NT1000 NT900 NT800

17. In a country where only two goods are produced and consumed, the production and consumption of
. Good B results in external benefits, while the production and consumption of Good X results in

external costs. Would unregulated markets produced too much or too little of Good B and Good X,
compared to the efficient output levels for these products?
a. They would produce too much Good B and also too much Good X.
b. They would produce too little Good B and also too little Good X.
¢. They would produce too much Good B but too little Good X.
d. They would produce too little Good B but too much Good X.

18. Two shops, C and F, sell apple juice in a small village. Shop C usually puts more sugar in their apple
juice than Shop F. Villagers have different preferences on sweetness (K RS SRR TR E).
Two shops compete on price. Assume that the marginal cost for C, MCc, was NT40 for each
additional cup of apple juice, and the marginal cost for F, MCr, was NT35. What are the possible
prices of a cup of apple juice for C and F in the Nash equilibrium?

a. (Pc*, Pr*)=(35, 35)
b. (Pc*, PF*) = (40, 35)
c. (Pc*, Pr*) = (40, 40)
d. (Pc*, Pr*) = (45, 40)
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19. Below is a game with a payoff matrix, where Apple and Samsung decide their strategies in a new
market of a VR device. If Samsung moves first, what is the payoff of the sub-game perfect
equilibrium/equilibria (SPE: the equilibrium you get by backward induction in an extensive form
game) in this game?

a. (0,0) q

b. (0,0) & (90,40) - amcsung .
g §3%§8§ U 0,0) | (30,10) | (40,:20)
o Apple [ M | (-1030) | (2020) | (90,40)
D (-20,40 (10,90) (70,70)

20. Consider a normal form game with 10 players. John and nine friends are having dinner at a restaurant
in Ambassador Hotel. They have agreed in advance to split the total check of their meal equally.
Each of them can choose one entrée from the menu providing two choices: a beef steak or a broiled
iobster. The price of a beef steak is NT800 and john can get a benefit of NT1200 to consume a beef]
steak; the price of a broiled lobster is NT2000 and he can get a benefit of NT1600 to have one. All of]
them have the same preference. They make a choice simultaneously. What is the pure-strategy Nash
equilibrium in this game?

a. Every one chooses a beef steak.

b. Every one chooses a broiled lobster.

c. Five persons choose beef steaks, and the other choose broiled lobsters.

d. There is no pure-strategy Nash equilibrium.
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